COVERS AND OTHER AIRTIGHT COVERS.

STEEL ANCHORS AT 18"

THIS DETAIL APPLIES AT

i0554-001.dgn 2/12/2009
OPENING SPAN
VARIES, SEE COVER SYMMETRICAL EDGEPLFOR ~ COVERPLATE TUBE 3x3 SEE PLAN
W TYPE DETAILS ABOUT CL TYPE'C' UNDER COVER 1 3/8" 1/4" MAX
. | EDGE OF " CHECKERED COVERS, 3/4" DIA x 2 5/8" 3
Q| 1/4" SEE DETAIL LONG ROD 3/8" UNLESS " n/An
ST 'f 1/2" MAX 3/8"x3/4" STAINLESS
OPENING ! PL COVER MAX | NOTED, SEE | STEEL FLAT BAR
& IR —+ [zzZ_[Z72] | © PLAN l ‘
,) | "P" = o \<> = I 2.
TYP 7 ~ STIFFENERS ‘L : IRJURREE
I (S | —)] 36128 >_M WHERE REQD, / X
STIFFENER STIFFENER| ™P 316 N— iﬁg ?Egﬁ'z"_/ y
SPG OR STIFFENER SPGOR '
12"MAX  SPACING, SEE TABLE 6" MAX | STAINLESS STEEL L2x2x1/ "
" 3/4" DIA X 2 5/8" ROD 3/8" DIA x 6" STAINLESS
W' COVER PLATE WIDTH | STEEL ANCHORS AT 18"
COVER PLATE CL OF 1"x2 5/8" CENTERS HOOK 2" AS SHOW
TABLE :L/ SLOTTED HOLE
X , j , COVER TYPE "A"
OPENING SPAN |  STIFFENER | o1irrENER | MAX PLATE NI S— )
LENGTH 'L’ SIZE SPAGING | | WIDTH W' SEAL N STIFFENERS OPENING SPAN 1/4" MAX
WELD 2 | TUBE 3x3x0.188 WHERE REQD, SEE PLAN ] ] 1/4" STAINLESS
L<2'6" NONE - 5-0" 3/16 | 2 1/4" LONG SEE DETAIL 7/8 1 STEEL FLAT
2.6"<L<3-6" | L2x1 1/2x1/4 16" 40" 1/4x3x3 : AND TABLE 112" MAX I D SCREWS
e < v o PLATE, GRIND | 3/8" UNLESS '
3-6"<L<4-0" | L2 1/2x1 1/2x1/4 1-6 40 CORNERSTO 3/8" UNLESS | NUTS WELD
4-0"<L<4'6" | L2 1/2x1 1/2x1/4 1-3" 40" MATCH RADIUS OF DLAN ‘ . Eg L, %r\'l\lllzz QT
§'<L<5'0" 6 0" CORNERS ON TUBE iy L, co
4'-6"<L.<5"0 L3x2x1/4 16 40 SECTION L N
5-0"<L<5'6" Lax2x1/4 13" 30" \%Z, \ 3/8"x3/4"
5-6"<L<6-0" | L3 1/2x2 1/2x1/4 16" 30" NOTE: STANLESS = <~ ) gfélé\lﬂ_EfET
6-0"<L<6-6" | L3 1/2x2 1/2x1/4 T3 o6 THE DETAIL IS APPLICABLE TO TYPE "C" STEEL L2x2x1/4"—7 qn BAR
6-6"<L<7"-0" Lax3x1/4 T3 6" COVERS AND OTHER AIR TIGHT COVERS. g?EEDll_'L:‘L\)&gHSJQISNkFﬁg. =
7-0"<L<7"-6" L4x3x1/4 1-0" 20" LIFTING EYE TYPE "B" CENTERS HOOK 2" AS SHOWN/ | TYP
NOTES:
1. STIFFENERS TO BE PLACED LONG LEG VERTICAL. 14 12" COVER TYPE "B"
2. SPAN DIRECTION OF PLATE TO BE PARALLEL TO STIFFENERS, AND _X / ] .
SHALL BE SHORT DIMENSION OF OPENING UNLESS NOTED SEAL\ 1/4 1 3/8 7/87— 1/8" THICK x 1 1/2" CONT STIFFENERS OPENING SPAN, 1/4" MAX
OTHERWISE ON PLANS. WELD} H i NEOPRENE GASKET WHERE REQD, SEEPLAN _ " 1/4" STAINLESS
3. MAXIMUM ALLOWABLE UNIFORM DESIGN LOAD = 300ps. | \ | SEE DETAIL 718 L 112 STEEL FLAT HEAD
4. MAXIMUM WEIGHT OF COVER PLATE TO BE 125 POUNDS. = Z =2 / ——— AND TABLE ; 1 ; SCREWS WITH 2 SQ
5. COVER PLATES AND STIFFENERS ARE ALUMINUM PLATES AND ANGLES. ) V2MAX | 3/4 NUTS WELD TO L
6. ALL COVER PLATES TO HAVE A MINIMUM OF TWO EYES AS SHOWN IN 3/8" UNLESS | AT 12" CTRS ALL
LIFTING EYE DETAILS. i — QEA’EDJ SEE ! AROUND
COVER STIFFENERS AL SPACER TYPE "C" T L _lr
PL 1/8x1 1/4"x CONT COVER PL ] ! e
1" " n “ ' A “\ C " "
COVER PLATE AL PL 3/8x3" x CONT, STOP 1/4" STAINLESS STEEL 1/8" THICK x $ ﬂ' R SRR 1/$Aﬁ/fE
3/4" DIA X 1/4" FROM FACE OF FLAT HEAD SCREWS @ 1 172" CONT | SN S S8
4" LONG ROD SUPPORT ANGLE EA END, 12" CENTERS NEOPRENE GASKET RSP NN : STEEL BAR
DRILL & TAP FOR 1/4" _ -
STAINLESS STEEL SCREWS STAINLESS STEEL L2x2x1/4" o TYP
o NOTE: ) ) e 3/16
THIS DETAIL APPLIES AT TYPE "C" 3/8" DIAx 6" STAINLESS NOTE:
CENTERS HOOK 2" AS SHOW

NOTE:

THIS DETAIL IS APPLICABLE TO TYPES "A" AND "B" COVERS

AND OTHER COVERS NOT INTENDED TO BE AIRTIGHT.
LIFTING EYE TYPE "A"

© CH2M HILL

EDGE PLATE DETAIL

CHECKERED FLOOR PLATE - ALUMINUM

OPENINGS THAT REQUIRE
AIR TIGHT COVERS.

COVER TYPE "C"

NTS

( 0554-001 )




